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PR SRR
f&:
a(b-c)+bt(c—a)+(a—b)
=a? (b—c)—a(bz—cz)+(bzc—czb)
=(b-c¢) [a.z—a(b+c)+bc]
=(b—¢c)(a—b)(a—c¢).

[R5 #4]
—. EEE
14 a® —2a HpFER, ERE )
A ala—2) B.a(a+2)

2. B L TRt ax? —dax + 4a
Aa(x—2)>
C.a(x—4)°

3.4 ax? —4ay® SppEAERmIORE ()
Aa(x+2y)(x—2y)

C.a(x—4y)’

4. % TAEFTHS L m , 2R (4m +5) =9 #fe (

A. # 8 Bk
C. ¥ (m—1) #pe
5. FHz RS, gemERE ()
A a* +b? B. —a* — b2
6. FR il x> — 4y g2 )
A (x +4y)(x —4y)
C. (x —4y)?

(E7T) @®(b—c)+ bW (c—a)+2(a—D).

C.a(az—Z) D.a(2—a)

SR, FAg R ER R O )

B.a(x +2)°
Dalx+2)(x—-2)

B.a(x—2y)°

D.a(x +4y)(x —4y)
)

B. # m #fR

D. # Cm —1) &

c.a*—4a+4 D.a?> +ab + b?

B. (x +2y) (x = 2y)
D. (x —2y)?

7. FAlgaR: x2—p2, —x2 42, —x2—y2 , (=) + (=), x* =yt T E A RS

frE=mE )

A 1A B.2 A
8.3 x —9x SRR, 45HLIEMINE ( )

A. X (x2—9)

C.x(x+3)°

9.7 x=~3+1, y=3-1, M x>—y>=
A. 43 B.2v3

10. FHIM R ERGZ C )
A x(x +2) =x242x

C,4x2—1=(4x+1)(4x—1)

C.3 4 D.4 4
B_x(x—3)2
Dx(x+3)(x-3)

«C )

C.0 D.2

B.x2—4x+1=x(x—-4)+1
D.—x>4+2x—1=—(x—1)?
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11. %5215 ab + be + ma +me  For 4o, 5 RIER R ( )

A a@a+m)d+c) B.(a+b)(m+c¢)
C.(b+m)(a+c) D.(@a—Db)(m+c¢)
12. FIAr A i 2 it 4 — x2 +2x° —x* S EmE ()
Aﬂ(4——x2)4—(2x3——x4) B_(4——x24—2x3)——x4
C. (4—x*) + (—x? +2x7) D. (4 —x? —x*) +2x?
132 mR X2 —6x +9— 2 ehdl, HMAARSMER, 4 IERIZ ( )
Aﬂ(x2——6x)4—(9——y2) B_(x2——y2)——(6x——9)
c. (x? —6x +9) —y? D. x> — (6x + y* —9)
14. fENR LR x2 —8x + 16 — p2 B, FHbsa iz )
A. (x> —8x) + (16 — y?) B. (x* — %) + (16 — 8x)
C. (x* —8x +16) — »? D. (x> —y*—8x) + 16
15. 2T 2xy —x? — y* S RER A E#ZE 5 ( )
A2Xy—(x+y)(x—Y) B.(x— )’
C.—(x+ )’ D.—(x—)°
16.2x* =x? =5x +k o, HAEKN =2, Wk EHC )
A.2 B. -2 C.6 D.—6
17. MR x+a)(x+b) =(x—-1)(x—2) , M4 a, b ( )
Aa=-1, b=-2 Ba=1, b=2
C.a:—l,b=25jza:1,b=—2 Da:—l,b=—2 Ejza:l,bZQ.
18. /M Xt +4, B0 )
A.(x2+2x+2)(x2—2x+2) B_(x+2)(x—2)(x2+1)
C. (x2 + 2)2 D. (x* + 2) (x2—2)
—. ETEE
19. B 2x° —8x =
20. MR mPn—mn® =

fife
21. B 8a® —2ab? =
2. MRER: y2—xP—dx—4 =
23 4MREAE: m* +2mn+n*—1=
24, x* —x + = (x— )2
25. X dmx—15=(x+3)(x+n) , Mm= =
26.#5ab =3, a—2b=5 | N a®bh—2ab?® [

27.(x +2p)* =3 (x +2y) +2 = .
28. MEAF: x2—5x—6= , X(y-DH—-@p-1)=
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29 X2 —5x +6 = )
30. DAIZ IR 202 +3xy =2y —x +8y—6 WM (X + 2y +m) 2x —y +n)

m? + 1
Ao Mo 5 MiEZ )
=. RERB
31. ol R X
(1) x2—7x—18 . (2) a*+ 12ab + 32b?
(3) a*—3a*>—4 (4) x*—13x2+36
(5) (@+2b)* =15 +2b)—16 . (6) a® —5a*b — 24ab?
(1 (P-2x)’ —2(¥2-2x) =3 (8) (x*=3)" —x (x> —3) — 242

32, MERFR: (X% +4x + 8)2 + 3x (x? + 4x + 8) + 2x?

33, Bt R, (2 +40)7 +7 (2 +41) + 12
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34. srfi A (m+n)2—6m (m—|—n)+9m2

35, FstA s (%% +3x)" =2 (x* +3x) — 8

36. Ona—b=2, ska*—2ab+b*—3a+3b+1 (A .

37. (D) itE: x+2)(x=95) (2) SMEFEE: 9x3y —dxy |

38, SMAHE R 4m? —9n? |

39. FRAME: (1) 3ax? —3ay® | (2) (2a —b)* + 8ab

40. MRER: (1) 3x —12x7 (2) 9a® (x — y) + 4b% (y — x)
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41. (D) H#E: &+ D(x+2) , (2) SRR x2y +2xy+y

42. FRAME: (1) 3am® —3an® | (2) (2x —y)* + 8xy

43 o Xt X241

44. B x, y #E IR, HWe xy—x—y+1=2 , RkKx, y H.

45 IR AR (7 +x)" 43 (x +x) — 10

46 IR oMig: (% —2a)" — (a® —2a) — 12
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47 3 fRE R x2 —2xy + p2 -9

48. 7 T A A 2
(1) 4x? —12xy +9y% (2) 25x% —10x + 1

(3) a* —18a* + 81 (4) (a? +—6a)2—+ 18 (a* + 6a) + 81

49. B X, y R c+ )7 =5, (x—p) =41 ; Ry +xpP M.

50, MR (¥ 4+ xy +2) —dxy (x2+ ?).
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143 B R BR

L i
I.A 22A 3 A 4A 5C 6B 7.C 8D 9A 10.D
11.C 12. A 13.C 14.C 15D 16.B 17. A 18 A

B_Ea
19 2x(x+2)(x=2) 20. mn(m+n)(m—n) 21. 2a2a+ b)(2a—b)

1 1
22 +x+2)(y—x-2) 23 m+n+l)m+n—1) 24 ) 25. =2, =5
i) - (x+3)(x+n) =x>+B+n)x +3n
X2+ mx—15=x*>4+@B+n)x+3n ,
som=3+n ,3n=-15, A m=-2, n=-5,

26. 15 27. x+2y—-D(x+2y=-2) 28 (x—-6)(x+1 , x=D—1) 29 (x—=2)(x—3)

7
30. 3
£E=Hn
3. (1) (x =9 (x+2) . @) (a +4b) (a + 8b) . 3)(@+2)(a—2)(a* + 1)
GHx+2)(x-2)(x+3)(x—=3) . (5)(@a+2b—16)(a+2b+1)
(6)a(a—8b)(a+3b) . 7 (x=3)(x+1)(x—1)7°

(g)(x—3)(x+1)(x2+x—3)

32. X2 +aAx +8=u , FIf+FHETRE
BT = u? + 3xu + 2x?
= (u + x) (u + 2x)
— (x2+4x+8+x) (x2+4x+8+2x)
:(x2+5x+8) (X2+6x+8)
= (x +2) (x +4) (x? + 5x +8).

33 (+2)2 @ +1)(t+3)
B = (m + n—3m)?

34.
= (n—2m)*.

35. x+H(x—1D(x+1)(x+2)

36. —1.

37. (1) B =x?-3x—-10 . (2) B =xy (9x?—4) =xy(Bx +2)(3x —2)
38. 4m? —9n? = (2m + 3n)(2m — 3n)
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(2a — b)* + 8ab
=4a® + b — 4ab + 8ab

3ax? — 3ay?

39, (1) =3 (X2—y2) (2)
=3a(x+y)(x—y).

=4a* + b* + 4ab
= (2a + b)*.

BRI = 9a% (x — y) — 4b% (x —
730 = —3x (4x2 - 1) ( y)2 2( »)
40. (1 (2) = (x —y) (9a* — 4b?)
=-3x2x+1D2x—-1).
= (x—y)(Ba+2b)(3a—2b).

B =x2+2x+x+2 Eﬁ=y(x2+2x+1)

(2)

41. (D
= x? 4+ 3x +2. =y (x+1)2%.

42. (D 3a () (). (2) =4x +y2+4xy
=2x + y)”.
43. (x2+1—x)(x2+1+x)
4. Hx-Dp-H)=2 5, x—1=2, y—1=1 gx—-1=1, y—-2=1,
e, x=3, y=2, x=2, y=3.
45, (P +x+5)(x+2)(x—1)
46. (a* —2a+3) (a* —2a —4)
47. (x—y+3)(x—y—3)
48. (1) (2x—=3y)* .
(2) (5x—1)7*.
(3) (@a+3)*(a—-3)*
4) (@+3)*.
49. 1 (x+ )2 =5 43 x2+2xy+ 2 =5
H(x—p)7 =41 8, x?—2xy+y? =4l
B, x24y2=23 xy=-9,
Xy +xy? =xy (x* + p?) = (-9) x 23 = 207

’

50. ifvﬁx2+y2:a,xy:b ,

MEL = (a + b)? —dab = (@ —b)* = (x* + y2 —xp)?
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